Please choose *, ** or *** to complete this lesson.

If you are able to, please try to chunk your number line to jump in bigger steps.

% *% *x%*
25+5= | 1) 65+5= |1) 48+3=
18+2= | 2) 42+3= |2) 90+5=
30+5= | 3) 78+6= |3) 53+3=
12+2= | 4) 60+4= |4) 96+6=
40+10=| 5) 52+4= |5) 88+4=
18 + 3 = 6) 39+3= 6) 120+ 8 =
556+5= | 7) 45+3= |7) 72+3=
70+10=| 8) 72+6= |8) 92+4-=
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Answers

2b+5=5H 65+5=13 48 - 3 =16
18+ 2=9 | 42+ 3=14 | 90+ b=18
30 5=6 | 78+ 6=13 | b2+ 4=13
12+ 2=6 |60+ 4=15 |96+ 6=16
40+10=4 | b2+4=-13 | 88+4=22
18+3=6 39+3=13 |120+ 8=15
b5+ B=11 | 45+ 3=15 | 72+3 =24
70+ 10=7 |72+ 6=12 |92+ 4=23




